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1. Two sound waves, from two different sources with the same frequency travel at a

speed of 330 m/s. The sources are in phase.

(a) What is the second lowest frequency of the source that will produce a
maximum sound at the listener at point P that is 5.0 m from one source and

4.0 m from the other? (The waves are traveling in the same direction.)
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(b) What is the third lowest frequency of the source that will produce a minimum

sound at the listener at point P?
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1. A 15 x 10 W point source emits sound waves isotropically. What is the sound
level 2.5 m from the source?
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2. (a) What is the ratio of the intensity of sound (Iy/I;) when the sound level is
increased by 40 dB?
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(b) What is the ratio of the distances from the source (ry/r;) in this case?
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An ambulance is approaching a stationary observer at 50 m/s with its siren emitting a
frequency of 600 Hz.
(a) What is the frequency heard by the observer in still air? [Speed of sound in air =
343 m/s].

e = Sh
s =

Ny=06
® ®

- | FO2HE

e

(b) What is the frequency heard by the observer if there is a wind blowing at a speed
of 20 m/s in the opposite direction to the ambulance?
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